g
3
3

VERTICAL
TOGGLE ) -
CLAMPS l\j J
- f HORIZONTAL
:. __ -‘ Tmﬁ »
oy

LATCH TYPE
TOGGLE




Spindle #70150

o — f I
o
I~y | | - >~
Srer— L m
S| A= ——1 + : :D @ i
oy \ [ ]
2 ‘§= ._,J‘?_‘ ! L
20.5 [0.807] — H—H | !
;;» / // e 8
BAR OPENS: 100° .ﬁ X \ =gy =
HANDLE OPENS: 56° = =t - <
SPINDLE SUPPLIED 70150 3 ‘T’ || @ ~ L 2
© = H—H
V% u
.. ok |
- g i { )
"j T—»‘j 4 |4-94.4[£0.173] Y H
F g
; 8
& i
15.9 [0.626] .75 [0.187]| : Ll
26 [1.024] -5 41057
8[0.315]
50560 54.3 [2.138]
25.4[1]
15.910.626] BAR OPENS: 100°
| I HANDLE OPENS: 56°
V, N SPINDLE SUPPLIED 70150
. 20.5[0.807] —
SRS 2 e L
S|o |y Nl
@l o |8l 7] Tl iman
LIRS )
8|8 |ols EET—F
4-04.4(20.173]

Max.79[3.11]

8[0.315)

0.079]

18.5[0.728]

Handle
Opens

Bar
Opens

Holding
Capacity

N (Ibf)

Weight

Kg (Ib.)

50540 100° 56°

T T
26[1.024]

54.3(2.138)

Supplied

Spindle Description

70150 Flanged Base, U-Bar, Straight Handle

100° 56°

17040
stainless steel)

70150 Flanged Base, U-Bar, Straight Handle

Straight Base, U-Bar, Straight Handle




VERTICAL CLAMPS

Continued

Spindle #70155
1/4-20 X 1.75

KQ%\ BAR OPENS: 100°

N _.t._
5 g | HANDLE OPENS: 60°
gTe ] L } : SPINDLE SUPPLIED 70155
ife—
N1E ARy ]
20.5[0.807] = |
]
© ()
123 4 [408)
. 3
a == g
7 ik d !
ST [T 3 L |
s
S | E
: & | || HiE
| 74/ \ |
= é { }
8 = O
2 < [5:2[0:205] s 7
3 = 4[0:
3 ;Lﬂ» VA HiH
S XTSI Ii
33.3[1.311] 2. 7T0-5° ] 6 [0.za6l
25.4 [1.000] 12[0.472)
62.8 [2.473]

52[0.205] ﬁ%\ BAR OPENS: 100°

HANDLE OPENS: 80°
SPINDLE SUPPLIED 70155

T

12.4 [0.488]
_4_[22 2]
Y
rPl

‘
|
‘
|
i

\_:'i/

27 [1.063)
30 [1.181]

39.7 [1.563]

A

i

12.7 0.5]
254 [1]

[0.386]

TIT
e =

TILT

7S TPV

1

22.7[0.894) 9

3[0.118]

2.7 [0.894] 9.3 [0.38¢

¥
33.3[1.311]
628[2.473) ,,I:‘:J

Handle | Supplied

Capacity - Opens | Spindle Dt
N (Ibf)

50500 49 | 3T | 1000 | 60° | 70155 | Flanged Base, Fixed Spindle, Straight Handle
50520 28}_%5 8:%; 100° 60° 70155 Flanged Base, U-Bar, Straight Handle

| (ctainiooastee) | 15 | 0% | 100° | se° | 70150 Flanged Base, U-Bar, Straight Handle
50440 49 | 3T | 1000 | e0° | 70155 Straight Base, U-Bar, Straight Handle
50460 28}_%5 8:%; 100° 60° 70155 | Straight Base, Fixed Spindle, Straight Handle
50480 28}_95 8:%; 100° 60° 70155 Flanged Base, Fixed Spindle, T-Handle
50420 ) Flanged Base, Solid Bar, T-Handle

Shop-Force | 855-737-3672 | sales@shop-force.com | www.shop-force.com




VERTICAL CLAMPS

Continued

*Solid Bar versions supplied with bolt retainer. 15.40.606]
Mir|. 9.4 [0.870]
5.4 [0.606]

Min. 9.4 [0.370]

i

[teg Tl s'ov

[teg Tl g9r

Max. 150 [6.260]

I

Mo

[reetl6ve
872701 67)
) T

&

i

31.8[1.252]

3[0.118] {,,

6[0.236] e

46 [1.811]

£82°00] 2 L0

BAR OPENS: 109° . BAR OPENS: 100°-115°
HANDLE OPENS: 60 HANDLE OPENS: 60°

SPINDLE SUPPLIED 70165 SPINDLE SUPPLIED 70165

Max. 159 [6.260]
=
1

"

)
e i E
| [ 2
b I [ T
& ;
L 1
% H ; | o
2 won2 1002 E
N2 1 T8 T
e o to7ae] e
3491.374) 175 4626]
117.5 [4.626] '

ol | e | o e ot
N(bf)y  Kg(b)
50360 2201 03T | 1000 | 60° 70165 Flanged Base, Long U-Bar, Straight Handle
B0 1 0% | 1000 | e0° | 70165 Flanged Base, Short U-Bar, Straight Handle
521%795 %37%5 100° | 60° 70165 Flanged Base, Short U-Bar, Straight Handle
521%7705 %37585 100° | 60° 70165 Straight Base, Short U-Bar, Straight Handle
50400 A0 1 93T | 1000 | e0° | 70165 Flanged Base, Short U-Bar, T-Handle
50300 521%7% 8% 100° 60° 70165 Flanged Base, Short Solid Bar, Straight Handle
50240 A0 1 03T | 1000 | e0° | 70165 Straight Base, Long U-Bar, Straight Handle
50280 521%795 %3’7585 100° 60° 70165 Flanged Base, Long Solid Bar, Straight Handle
100° 60° 70165 Straight Base, Short Solid Bar, Straight Handle
Straight Base, Long Solid Bar, Straight Handle

Shop-Force | 855-737-3672 | sales@shop-force.com | www.shop-force.com



VERTICAL CLAMPS

Continued
*Solid Bar versions supplied with bolt retainer.
19 [0.748] _
Mif. 11 [0.433] Vﬁ
==
(N =
[ / /
L y ool L
| N | 8
@ [
‘ 5 oy
| = /»7 i~/ /&
(173 / S NS
& = YA
(1 g
b | GRON
AR s | ‘ ‘ r‘@ @Kﬁf
T e TEEE 1
H 1 H I
50120 o i . 3@"
le,,.——' § N
b 9.5 [0.374)
JE_[:*?:Q, 862[3304] QR
BAR OPENS: 100°-115° A s0ss] |
HANDLE OPENS: 62°-68° = 2180125 LoalLr s
SPINDLE SUPPLIED 70160 w20 B
142 [5.591]
BAR OPENS: 105°
HANDLE OPENS: 58°
SPINDLE SUPPLIED 70160
19[0.748] a
Min|11[0.433
ini 1200, 433) ,EJ:Q
+=3
(A I
M / /
A }
IS ‘ by / /
] B 9 1
- 2 p
BV o) (@), S
g =) 0 == N /< o
i I lol Byah
e OO gl L 4@ Q)@
pole T : "\ \l_, e -~
2E| | || |B B °]
w HH g | 3[0.118]
SSiom-o| | q L
45.3[1.784] !
64.3[2.532 142[5.501]

| £ | g | B St
N (Ibf)
50220 3400 0835 | 105° | s8° | 70160 Flanged Base, U-Bar, Straight Handle
50160 3746050 01'?58 105° | 58° 70160 Flanged Base, Solid Bar, Straight Handle
50200 300 08 | 105° | 58° | 70160 Straight Base, Solid Bar, Straight Handle
50120 3400 0835 | 105° | s8° | 70160 Straight Base,U-Bar, Straight Handle
Flanged Base, U-Bar, T-Handle

Shop-Force | 855-737-3672 | sales@shop-force.com | www.shop-force.com




1/2-12 X 3

Products with hardened bushing at key pivot paints.

Continued

BAR OPENS: 100°-115°
HANDLE OPENS: 62°-68°

VERTICAL CLAMPS

10[0.394]

20[0.787]

128 [5.039]

ISPINDLE SUPPLIED: 70225 ﬁ Fq NAET
/ / Mln;lzz[jflfse]

v Sl B

il *

/] i
7 - | E
g 1 &
: B =l B

- e

N | | @Yy S |

§ T i

s el T

9.5 [0.374]

-

pLeltese| \+-287(00343)

508 [2.000] T

BAR OPENS: 100°-115°
HANDLE OPENS: 62°-68°
SPINDLE SUPPLIED: 60225

4.2 [0.953]

Mif. 14.2 [0.§59]

g = .
[ B
Lgﬁ IMBZEE aif}y
: LM O N
| =
50100 L e e o
Model g;;lg::r:?y Weight  Bar Opens lge;;c[l]l;e SSL;)F:EEIES Description
N (b Kg (Ib)
50100 0. 125 1 100°115° | 62°-68° | 70225 Flanged Base, U-Bar
50080 o 12| 100°115° | 62°-68° | 70225 Straight Base, U-Bar
50060 00, 125 1 100°115° | 62°-68° | 70225 Flanged Base, Solid Bar
100°-115° Straight Base, Solid Bar

Shop-Force | 855-737-3672 | sales@shop-force.com | www.shop-force.com




VERTICAL CLAMPS

Continued
Spindle #70235
5/8-11 X 5
Products with hardened bushing at key pivot points.
76.2[3.000]
50.8[2.000]
'S K\N
5 110[4.331 O w
I — g 7
8, =X r '\: I = = N
g bl SEt = o o
=
g = == g %
& & O
4-12.3[20.484]1 —< /
BAR OPENS: 100°-140°
HANDLE OPENS: 48°-60°
50020 SPINDLE SUPPLIED 60236

5
I

3 s
'5‘ 3¢
§ g = Soul B0 s
Ry |~ " PIN POSITION 1
8 \ < PIN POSITION 2
el | )7
3 ( 1 ] 510.1971\\ ¥/ 3[0.118]

Holding Handle Supplied

Capacity Weight Bar Opens Opens Spindle Description

Model

N (bf) Kg (Ib)

5500 ! o 10
12375 100°-140
5500 254 oo
12375 55 | 100°-140

48°-60°
48°-60°

70235
70235

Flanged Base, U-Bar

Flanged Base, Solid Bar

Shop-Force | 855-737-3672 | sales@shop-force.com | www.shop-force.com



HORIZONTAL CLAMPS

Spindle #70165
X25

BAR OPENS: 185°
HANDLE OPENS: 60°
SPINDLE SUPPLIED: 70165

50140
HORIZONTAL & VERTICAL

Holding Handle Supplied

Model Capacity Weight Bar Opens| Opens Spindle

) Kg (Ib.)

Tds)

()

3811.406)

Description

50140 1000 940 185° 60° 70165 Flanged Base, U-Bar

BAR OPENS: 90°
HANDLE OPENS: 80°
SPINDLE SUPPLIED: 70200

Lesolgez

238[0937]
159 [0.626]
£10.315
Min s 101671
@\
Anii
E I
L]
aRY! 5
EE [V s
s |5 &
ERE

fir
iy g
O

8[0.315]

Kl‘l
Iy

60260

Max78.5[3.091]

Holding Ca- Handle Spindle

Model pacity Weight ~ Bar Opens Opens  Supplied

N (lbf) Kg (Ib.)

2ol vy

Description

60240 0,035 90° 80° 70200 Flanged Base, U-Bar
60260 903 90° 80° 70200 Flanged Base, Solid Bar
(stainjesosteel)| 900 v 85° 60° 70200 Straigh Base, Solid Bar
60280 & 903 90° 80° 70200 Straigh Base, Solid Bar
60300 59 908 90° 80° 70200 Straigh Base, U-Bar




HORIZONTAL CLAMPS

Continued

Spindle #60155

1/4-20 x 1.75

BAR OPENS: 85°
HANDLE OPENS: 60°
SPINDLE SUPPLIED: 70155

38[1.417]
22 0.566]
1410446]

Mlnl'ﬁgl
T
i
|
I
I
|
I

Isse’ 11 5'se

' | Lo

60200

12.7[0.500]
)

37.2[1.465]

265.4[1.000]
27.8[1.084]
37[1457

Max 145 [5.709]

BAR OPENS: 85° ‘ ‘
HANDLE OPENS: 60° L[0T
SPINDLE SUPPLIED: 70155 8[0.315]

L
O D | |-
I P ,‘E‘
= Tee B
o 8=
- = iz
3 % i
& I @
R \ B
I :
() B8
I
|
57 [2.244] }
Max.145 [5.709] |
11.4 [0.448]
Min7.4 [0.201]
Py
N

[c T

Handle
Opens

Bar
Opens

Holding Ca-
pacity

Supplied

g Spindle

Weight

N (Ibf) Kg (Ib.)

Description

0.13

60160 2025 0729 85° 85° 70155 Flanged Base, U-Bar
60200 20 913 85° 85° 70155 Straight Base, U-Bar
60180 2%%95 8%3 85° 60° 70155 Flanged Base, Solid Bar
60140 20 913 85° 60° 70155 Straight Base, Solid Bar

Shop-Force | 855-737-3672 | sales@shop-force.com | www.shop-force.com




HORIZONTAL CLAMPS
sn618x2s |

5/16-18 X 2.5

38[1417)

BAR OPENS: 90°

60100 HANDLE OPENS: 65°
SPINDLE SUPPLIED: 60165 MY e
Holding Ca- f Handle Supplied _
pacity Weight | Bar Opens Opens spindle Description
N (lbf) Kg (Ib.)
60100 2210, Flanged Base, U-Bar
19060 2270 0.265 o o
stainless steel) 510.75 0.58 20 65 70165 Flanged Base, U-Bar
60120 2210 0285 90° 65° 70165 Straight Base, U-Bar
Spindle #70160 Aot
3/8-16 X 3.50 EE — > 7
Hite—— == )
Spindle #70190 PR i
05 [2.689] “3
M5 X 30P =0.8 s10m

BAR OPENS: 80°
HANDLE OPENS: 50°
SPINDLE SUPPLIED: 60160

107 [4.213]

Holding Ca- ] Handle Supplied -
Model pacity Weight Bar Opens Opens  Spindle Description
N (Ibf) Kg (Ib.)
60000 3840 919 85° | 50° | 70160 Flanged Base, U-Bar
60040 3340 919 85° | 50° | 70160 Straight Base, U-Bar
Flanged Base, U-Bar

Shop-Force | 855-737-3672 | sales@shop-force.com | www.shop-force.com




HORIZONTAL CLAMPS

Continued

BAR OPENS: 90°
HANDLE OPENS: 170°
SPINDLE SUPPLIED: 60150

Spindle #70150
3/16-24 X 1.375

Spindle #70165
5/16-18 X 2.5

Spindle #70160

3/8-16 X 3.5

11 [0434]

BAR OPENS: 90°
HANDLE OPENS:
SPINDLE SUPPLI

105 [0.763)

170°
ED: 60165

2

2200875

PR

19 [0.748)

27[1.063]

44[1.732]

X
3 i I % g
R ] = 5
E) E% L ‘ 2 )
4 [0.551], {} \\
ﬁ 13.5[0.531] w
26.2[1.031]
60220 & 18000
60020

Max. 93 [3.661]

30[1.181)

BAR OPENS: 90°
HANDLE OPENS: 170°
SPINDLE SUPPLIED: 60160

31[122)
39 [1.535]

333[1311] 19(0.748

Material: Steel. 60020 with hardened bushing at key pivot points.

Holding Ca- ] Handle Supplied .
pacity Weight | Bar Opens Opens Spindle Description
N (Ibf) Kg (Ib.)

60220 670 0.08 90° 170° 70150 Flanged Base, U-Bar, T-Handle

150 0.13 , '
(Stainllgggosmel) %8 882 90° 170° 70150 Flanged Base, U-Bar, T-Handle
(Stainllgggoswel) o 3% 90° 170° 70150 Flanged Base, U-Bar, T-Handle
60080 1560 o2 90° 170° 70165 | Flanged Base, U-Bar, T-Handle
60020 Flanged Base, U-Bar, T-Handle

Shop-Force | 855-737-3672 | sales@shop-force.com | www.shop-force.com




LATCH CLAMPS

Continued
40240 &16100
: S =
ST 3 [0.512]

==

(T
[

==
:
Eocalrs

rvzalis

Eim

TiZoeTsL %on
=====a
t
——
e
=
[

NN

.w_‘ 190743

282111

40140 & 16020

Accessories

70005 M4*57 U-bolt Spindle Accessory

70100 Latch Plate Accessory

70010 M4*57-SS U-bolt Spindle Accessory

70060 M5*87 U-bolt Spindle Accessory

g

70135 M6*100 U-bolt Spindle Accessory

70065 M5*87-SS U-bolt Spindle Accessory

70140 Latch Plate Accessory

70035 M8*115 U-bolt Spindle Accessory

70115 Latch Plate Accessory

70040 M8*115-SS U-bolt Spindle Accessory

40200 & 16080

HOlmng Accessories
Capacity
N (lbf)
1630 0.07
40240 366.75 0.15 70005,70100
16100 1630 0.07
(stainless steel) 366.75 0.15 70010, 70100
3180 0.225
40200 $153 %% 70060, 70135
16080 3180 0.225
(stainless steel) 7155 0.50 70065, 70140
9000 0.68
40140 2025 1.50 70035, 70115
16020 (stainless steel) 70040, 70115

Shop-Force | 855-737-3672 | sales@shop-force.com | www.shop-force.com




LATCH CLAMPS

Continued

Accessories

70000 3/8-16*5.82 U-bolt Spindle Accessory
F maBig 70125 3/8-16*8.66 U-bolt Spindle Accessory
S 70130 Latch Plate Accessory
- {> 70055 1/2-12*5.8 U-bolt Spindle Accessory
o
b 40000

a

Max. 90 [3:543]

12712)

2760 am& \

j 127(905] 1060417
sapmn

1943126

s1202252)

Fﬁé

i b
)

N\

Tz

O ORTE T o7

Max 222(8.74)
. 2
o 190.748)
=
(=g j
Sy |1 H
LMJ L_LI_JSH 252
EAI 2 sss 133

794 (3126]

Latch Plate Sold Separtely

Holding
Capacity

N (Ibf) Kg (Ib.)

Weight Accessories

70000, 70125, 70130
70130, 70055

Shop-Force | 855-737-3672 | sales@shop-force.com | www.shop-force.com



LATCH CLAMPS

Continued

[eLT00] vy 02

Tesolser . 2

Max. 84 [3.307) )

M4 [0.157) P

e

60Tl v'oz
N
O
—/|
lzsT
m
%o

O

Max. 56 [2.205]

CEDES

e, I 4953 [0.209]
2[0.079] {’ i ’}

13[0512

26 [1.024] "F’\ — ’j"

I Ti08 01502

i 40180 & 16060

t 4.7[0.185] ezl te

Accessories

Teoelses

EvoTlsse

@
{

P — — ey

111 [0.437]

Et ’ ; 70015 | M4*78 U-bolt Spindle Accessory
N |®
A — B 70105 | Latch Plate Accessory
Far)
A HIESZNIH 70020 | M4*78-SS U-bolt Spindle Accessory
|
! i 70025 | M6*114 U-bolt Spindle Accessory
. V%T ! 1 R ! 70110 | Latch Plate Accessory
——
T ‘ i& 5 f T”}“ i 70030 | M6*114-SS U-bolt Spindle Accessory
e A F ‘ ] ‘ 70045 | M8*154 U-bolt Spindle Accessory
T rT-} 70120 | Latch Plate Accessory
T
TJ “%’ 40120 & 16000
44 %

[ZEED =5

pro—

Weight

Kg (lb.)

EEEETY

Holding
Capacity

40180 2250 919 70015, 70105

16060 (stainless steel) 520’%5205 8%(2) 70020, 70105
4,500 0.29

40120 5 929 70025, 70110

16000 (stainless steel) 140?(2)% 8%2 70030, 70110

0.29
40080 929 70025, 70110

Shop-Force | 855-737-3672 | sales@shop-force.com | www.shop-force.com




LATCH CLAMPS

Continued

Accessories

365 [1.437)

=
=TT 70070 Hook Spindle Accessory
% ‘ 70075 Hook Spindle Accessory
i ‘é 70080 Hook Spindle Accessory
C 70050 Hook Spindle Accessory
]‘i 70145 Hook Spindle Accessory

40220 & 16040

o 1576 161) 40160

ssries)

wrasen . )
== :

—W i wapay

4921937 2 .

A

TezaToT
T
E;—T-‘u et |~ leorzar
I

mlﬁ

ToreTm

40020

|
|
|
|
i
40100 J‘J

g;;gg:g] Accessories
N (lbf)
40220
16040 (stainless steel) %gg% 8:(255 70075
40160 Ho 025 70080
40100 3400 989 70050

40020

Shop-Force | 855-737-3672 | sales@shop-force.com | www.shop-force.com




\*,;:9 & k D 2 tot81g
-b' o ; i

ST Te
Y I S
30060 i
B,
O t
Bl § Max218 BAG
; § g S — )
5
44371 [30,28]
19 10.75]

34,801,537

Holding ' Accessories
Capacity

N (Ibf)

Flanged Base, Solid Hook

Spindle #70220
M10 X 50P =

2
&
2 E
] S
2
HANDLE OPENS: 180° =
PLUNGER STROKE: 40.8mm
SPINDLE SUPPLIED 70220 (7

30080 'x@

evE 001 1’80V

T

HE@

leszzlzes
lozoTl €TV

9

HHH

Max. 110 [4.331]

&

5 i
| 40.8 [1.606] {7 7”}
3 3[0118) LL11]
! f . 41.3[1.626]
¥ T
3[0.118) 57.2[2.252]

Holding . Supplied Plunger -
Capacity Spindle Stroke e

N (Ibf) Kg (Ib) mm (inches)

Shop-Force | 855-737-3672 | sales@shop-force.com | www.shop-force.com



PUSH/PULL CLAMPS

Continued
Accessories

70195 M6*P1.0=1.57
30220 70220 M10X50P =15
70205 M8 X 30P =125
70230 5/16-18 X 2
'J‘\ 70085 Mounting Bracket Accessory
210.9{0.429]
[a! ~ r 70090 Mounting Bracket Accessol
e S el Tay o 9 i
70095 Mounting Bracket Accessory
39[1.535)
159f0.626 N G
o M8 1
g IRl == il
3 == =
HANDLE OPENS: 180° 12 -Xr@/
PLUNGER STROKE: 39mm —osusea | LSS
SPINDLE SUPPLIED 70205 e

N

== | g
H == | gl
- = = )
y—)r@;ﬁ ol = ‘
405 (1584 U mms i 1696 [6:677]
e %}
80318 Lo
A I—|
21030429 T
= r — 7 By N
== SEianYA & —— P OIS
T F S4B 1€
|Sa= J esspsm
j-
snsm
e e 21808281
o o

HANDLE OPENS: 180°
PLUNGER STROKE: 39mm HANDLE OPENS: 180°
SPINDLE SUPPLIED 70210 PLUNGER STROKE: 65.5mm
SPINDLE SUPPLIED 70220

Max. 101 (78]
Max. 139 [5.472)

30180

s | oo | S5 | |
N (Ibf) Kg (Ib) mm (inches)
30220 it S 70195 20mm Imperial Thread
30160 9% QU3 70195 20mm Metric Thread
(31ainl|222031ee|) 20075 G2 70195 e Metric Thread
ot | 0| O | s | @ ipera e
30180 1360 o2 70210 Somm Metric Thread
30200 1360 921 70230 omm Imperial Thread
15020 T v 70210 S Metric Thread
15000 e v 70230 Sy Imperial Thread
30060 3180 o1 70305 65 Smm Imperial Thread
30040 8 Metric Thread

Shop-Force | 855-737-3672 | sales@shop-force.com | www.shop-force.com




Continued

Spindle #70210
M8 x 50P = 1.25

HANDLE OPENS: 185°
PLUNGER STROKE: 32mm
SPINDLE SUPPLIED 70210

30240

32[1.26)

24.6 [0.968]

Max. 78 [3.071]

49[1.929)

139.5 [5.492)

PUSH/PULL CLAMPS

41 11.614]

564 [222]

Holding . Supplied Handle Plunger _
e Capacity UEE Spindle Opens Stroke Description
N (Ibf) Kg (Ib) mm (inches)
30240 1360 s 70210 180° 8 fam Flanged Base, Imperial Thread
M4 x 20P = 0.7 Nylon =
(R -F=== §
‘ ‘ —_ =z
16.7 [0.657]
34.7 [1.368]
_— v:-"_'—‘_-—_'__;"-——‘-_—.::_.——-. 68[2.679]
,J) _—--——"
fﬂ v 15.9 [0.626]
s =k ~
= 30300 g A
é::'- = e KD N g
: =i
HANDLE OPENS: 185° T — — i 3 &

PLUNGER STROKE: 16.7mm
SPINDLE SUPPLIED 70185
3-04.4[0.173)

Holding
Capacity

Supplied

Spindle Stroke

Handle
Opens

Plunger

Model Weight

N (Ibf) Kg (Ib) mm (inches)

Shop-Force | 855-737-3672 | sales@shop-force.com | www.shop-force.com

N

Description

Flanged Base




PUSH/PULL CLAMPS

Continued

HANDLE OPENS: 180° M8 x 50P = 1.25

PLUNGER STROKE: 31.8mm
SPINDLE SUPPLIED: 70210

8 TloLy

4-25.6(0.22]

Max.84(3.307]

30140 il

i
|
:

24.6[0.969]

54.4[2.142] f f

124.414.898)

©11[0.433]

Model hicliing Weight

Capacity Spindle | Opens Description

Supplied | Handle Plunger
Stroke

N (Ibf) Kg (Ib) mm (inches)
30140 2201 0% | 70230 | 180° §18 Flanged Base

T681219'SS
929 TIETY

HANDLE OPENS: 180° —i
PLUNGER STROKE: 32mm
SPINDLE SUPPLIED 70210 f

il

e
=] l@hf@w
=i
32[1.26]
:

M_T 92[3.622]

130(5.118]

34[1.339]

7[0.276]

24.4[0.961,

212.7[05]
4-25.2(0.205]

Holding

ot Capacity

Weight Description

Supplied | Handle Plunger
Spindle Opens Stroke

N (Ibf) Kg (Ib) mm (inches)
70210 3122”%'“ Flanged Base, Imperial Thread

Shop-Force | 855-737-3672 | sales@shop-force.com | www.shop-force.com



PUSH/PULL CLAMPS

Continued

Spindle #70205 i
M8 x 50P = 1.25

30000

[sol s 21e

[9z90l 6'ST

HANDLE OPENS: 180°
PLUNGER STROKE: 41.3mm
SPINDLE SUPPLIED 70210

[vLeTl 6'7E

[ove'v] votT

[ozoTl €Ty

[8z'02] T'20-9

Max. 83 [3.268]

295 [1.161]
175 [0,689]

41.3[1.626]

213 [1626] 56.5 [2.224]
—
43.2[1.701] ——
153.6 [6.047) \

Spindle #70220

M10 X 50P = 1.5

HANDLE OPENS: 180°
PLUNGER STROKE: 50mm
SPINDLE SUPPLIED: 70220

iy =
E==lE=
L——-L—
W
229021 8510

L =5
o) i
(3 | |
| |
30020 = 1B ?
@ o
= 4 5
" o s
3 Y 2
NN 8
3 | =
& =
g 50 [1.969] g :
g _ Fan N o o ff #
% ‘:'!T Y H ﬁ
= =1 — -
@ [
& [ T[T T[T [T L1
52 [2.047] (111
180 [7.087]
41.3 [1.626]
58.5 [2.303]

30020: Forged alloy steel base

Model Holding Capacity Weight Handle Opens Plunger Stroke | Supplied Spindle

Metric N (Ibf) Kg (Ib) mm (inches)
41.3 mm (1.63")
50.8 mm (2")

Shop-Force | 855-737-3672 | sales@shop-force.com | www.shop-force.com




CROSS REFERENCE

SHOPFORCE  CLAMP-RITE DESTACO CARRLANE CENTURY ESSENTRA GOODHAND JERGENS KAKUTA BRAUER
50540 11011CR 201-U CL-150-VTC CT-11011 ETC-11011 GH-101-A 70000 HV 150 V75/2B
50560 11012CR 201-UB CL-151-VTC CT-11012 ETC-11012 GH-101-Al 70001 HV 151-B V75/1B
17040 11011CR-SS 201-USS CT-11011-SS ETC-11011-SS GH-101-ASS 70000-SS
50020 11671CR 267-U CL-1050-VTC CT-11671 ETC-11671 GH-101-] 70016 HV 1050 V55028
50000 11674CR 267-S CL-1050-VTC CT-11674 ETC-11674 GH-101-JS 70053
50100 11471CR 247-U CL-850-VTC CT-11471 ETC-11471 GH-10247 70014 HV 850 V450128
50080 11472CR 247-UB CT-11472 ETC-11472 GH-10248 70135
50060 11474CR 247- CL-750-VTC CT-11474 ETC-11474 GH-10249 70015 HV 750 V450/2A
50040 11477CR 247-SB CT-11477 ETC-11477 GH-10250 70134
50500 11020CR 202 CL-250-VTC CT-11020 ETC-11020 GH-12050 70002 HV 250 V150/2C
50520 11021CR 202-U CL-253-VTC CT-11021 ETC-11021 GH-12050-U 70003 HV 250-U V150/2B
17000 11021CR-SS 202-USS CT-11021-SS ETC-11021-SS 70003-SS
50460 11025CR 202-B CL-251-VTC CT-11025 ETC-11025 GH-12055 70005 HV251-B | V150/1C
50440 11022CR 202-UB CT-11022 ETC-11022 70004 HV 251-UB | VI50/1B
50480 11023CR 202-TU CT-11023 ETC-11023 70131
50420 11026CR 202-T CT-11026 ETC-11026 GH-12070 70121
50380 11071CR 207-U CL-450-VTC CT-11071 ETC-11071 GH-12130 70007 HV 450 V250/28
17060 11071CR-SS 207-USS CT-11071-SS ETC-11071-SS GH-12130-SS 70007-SS
50400 11073CR 207-TU CL-452-VTC CT-11073 ETC-11073 GH-12131 70009 HV 452-T
50360 11018CR 207-UL CT-11018 ETC-11018 GH-12132 70006 HV 253-L
50340 11072CR 207-UB CL-451-VTC CT-11072 ETC-11072 GH-12135 70008 HV 451-B V250/1B
50240 11019CR 207-ULB CT-11019 ETC-11019 GH-12137 70133
50300 11074CR 207-S CL-350-VTC CT-11074 ETC-11074 GH-12140 70010 HV 350 V250/2A
50280 11078CR 207-L CT-11078 ETC-11078 GH-12142 70123
50320 11077CR 207-SB CT-11077 ETC-11077 GH-12145 70122
50260 11079CR 207-LB CT-11079 ETC-11079 GH-12147 70132
50220 11101CR 210-U CL-650-VTC CT-11101 ETC-11101 12265 70011 HV 650 V350/28
50120 11102CR 210-UB CT-11102 ETC-11102 70124
50160 11104CR 210-S CL-550-VTC CT-11104 ETC-11104 GH-12275 70012 HV 550 V350/2A
50200 11107CR 210-SB CL-551-VTC CT-11107 ETC-11107 12280 70013 HV 551-B V350/1A
50180 11103CR 210-TU CT-11103 ETC-11103 GH-12285 70125
60220 16051CR 305-U CL-200-VTC CT-16051 ETC-16051 GH-13005 70026 V70/2BT
18000 16051CR-SS 305-USS CT-16051-SS ETC-16051-SS GH-13005-SS 70026-SS (70130)

60080 16071CR 307-U CL-300-VTC CT-16071 ETC-16071 GH-13007 70027

17020 16071CR-SS 307-Uss

60020 16091CR 309-U CL-500-VTC CT-16091 ETC-16091 GH-13008 70028

60240 14051CR 205-U CL-250-HTC CT-14051 ETC-14051 GH-201 70018 H50/2B
60260 14054CR 205-S CL-150-HTC CT-14054 ETC-14054 GH-201-A 70019 H50/2C
60280 14057CR 205-SB CT-14057 ETC-14057 GH-201-Al 70138

60160 14151CR 215-U CL-350-HTC CT-14151 ETC-14151 GH-201-B 70020

60200 14152CR 215-UB CL-351-HTC CT-14152 ETC-14152 GH-201-BSS 70021

60180 14154CR 215-S CT-14154 ETC-14154 GH-201-BSS 70128

60140 14157CR 215-SB CT-14157 ETC-14157 GH-201-BSI 70129

60300 14052CR 205-UB

19000 14051CR-SS 205-USs CT-14051-SS ETC-14051-SS GH-201-SS 70127

60000 14351CR 235-U CL-550-HTC CT-14351 ETC-14351 GH-20235 70024 H350/2B
60040 14352CR 235-UB CT-14352 ETC-14352 GH-20236 70025

60060 14131CR 213-U CT-14131CR ETC-14131CR 70137

50140 11170CR 317-U CL-475-HTC CT-11170 ETC-11170 GH-20820 70017

60100 14251CR 225-U CL-450-HTC CT-14251 ETC-14251 GH-225-D 70022

60120 14252CR 225-UB CL-451-HTC CT-14252 ETC-14252 GH-225-DI 70023

19060 14251CR-SS 225-USS CT-14251-SS ETC-14251-5S GH-225-DSS 70022-SS

30300 13010CR 601 CL-50-SPC CT-13010 ETC-13010 GH-301-A 70042

30280 13010CRM 601-M CLM-50-SPC CT-13010M ETC-13010M 301-AM SL 10 P50
30240 13050CR 605 CL-150-SPC CT-13050 ETC-13050 GH-302-F 70046

30100 13485CRM 608-M CLM-200-PC CT-13485M ETC-13485M 304-EM SL 210

30000 13070CR 607 CT-13070 ETC-13070 GH-30607 70051

30140 13030CR 603 CL-100-PC CT-13030 ETC-13030 GH-36003 70047

30120 13030CRM 603-M CLM-100-PC CT-13030M ETC-13030M 36003M SL105-2

30080 13100CR 610 CL-250-SPC CT-13100 ETC-13100 GH-36010 70050

30260 13090CR 609 CT-13090 ETC-13090 GH-36092, GH-36020 70049

30220 13020CR 602 CL-150-TPC CT-13020 ETC-13020 GH-36202 70043

30160 13020CRM 602-MM CLM-150-TPC CT-13020M ETC-13020M 36202M FM 50 P100
15060 13020CRM-SS 602-MSS CT-13020M-SS | ETC-13020M-SS

15040 13020CR-SS 602-SS CT-13020-SS ETC-13020-SS 70043-SS

30200 13040CR 604 CL-250-TPC CT-13040 ETC-13040 GH-36204 70044

30180 13040CRM 604-MM CLM-250-TPC CT-13040M ETC-13040M 36204M FM 150 P200
15020 13040CRM-SS 604-MSS CT-13040M-SS | ETC-13040M-SS

15000 13040CR-SS 604-SS CT-13040-SS ETC-13040-SS 70044-SS

30060 13240CR 624 CL-350-TPC CT-13240 ETC-13240 GH-36224 70045

30040 13240CRM 624-MM CLM-350-TPC CT-13240M ETC-13240M 36224M FM 250

30020 13300CRM 630-M CLM-350-TPC CT-13300M ETC-13300M 36330M SL 350

40240 12230CR 323 CL-100-PA CT-12230 ETC-12230 GH-40323 70029 FA 100 LU200H
16100 12230CR-SS 323-SS CT-12230-SS ETC-12230-SS GH-40323-SS 70136

40180 12240CR 324 CL-110-PA CT-12240 ETC-12240 GH-40324 70034 FA 130 LU200V
16060 12240CR-SS 324-SS CT-12240-SS ETC-12240-SS 70034-SS

40120 12340CR 334 CL-210-PA CT-12340 ETC-12340 GH-40334 70035 FA 230 LU400V
16000 12340CR-SS 334-SS CT-12340-SS ETC-12340-5S 70035-SS

40140 12410CR 341 CL-300-PA CT-12410 ETC-12410 GH-40341 70031 FA 300

16020 12410CR-SS 341-SS CT-12410-SS ETC-12410-SS GH-40341-SS 70031-SS

40080 12440CR 344 CL-310-PA CT-12440 ETC-12440 GH-40344 70036 FA 330 LU700vV.
40040 12750CR 375 CL-400-PA CT-12750 ETC-12750 40370 70032 FA 600

40100 12710CR 371 CT-12710 ETC-12710 GH-40371 PA 270

40000 12850CR 385 CL-500-PA CT-12850 ETC-12850 GH-40380 70033 FA 700

40200 12310CR 331 CL-200-PA CT-12310 ETC-12310 GH-431 70030 FA 200 LU400H
40060 12010CR 301 CL-150-PA CT-12010 ETC-12010 GH-43101 70041 PA 150

16080 12310CR-SS 331-SS CT-12310-SS ETC-12310-SS GH-431-SS 70030-SS

40020 12810CR 381 CT-12810 ETC-12810 GH-43810 70040 PA 350

40220 12510CR 351 CL-250-PA CT-12510 ETC-12510 GH-451 70037 PA 250 LH200
16040 12510CR-SS 351-SS CT-12510-SS ETC-12510-SS GH-451-SS 70037-SS

40160 12515CR 351-B CL-251-PA CT-12515 ETC-12515 GH-452 70038 PA 251-B

Shop-Force | 855-737-3672 | sales@shop-force.com | www.shop-force.com




